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1. BEEHOR
(1) BHEUINE

% VN lics e A 23 1,960] | [ 60] | [ 1, 900]
Kk 8 B &€ B & 5 & %% 1, 960 60 1, 900
= il A ESS & 10, 000] | [ 20, 000] | [A 10, 000]
A S % 1% it 10, 000 20,000 | A 10, 000

% I £ #* 410, 000] | [ 400, 000] | [ 10, 600]
iF = A £ % a3 410, 000 400, 000 10, 000
Ricy E 14 FA3 7,593,677] | [ 7,862, 220] | [A 268, 543]
= £ # # Uy Fa3 7,593, 677 7,862,220 | A 268, 543

= vt # Bh & a5 6, 532, 000] | [ 7,217,000] [ [A 685, 000]
(M) H X & H X (LEH2S 4, 676, 000 4, 630, 000 46, 000
KB M = iF & & & ®& 5 % 1, 856, 000 2,587,000 | A 731, 000
= il * i+ & 3, 445, 400] | [ 8,411, 500] | [A 4, 966, 100]
HE 74 % 91, 416] | [ 252, 090] [[A 160, 674]
R 17 = ijd F B 71 90 | A 19
e ] fih, ME % & 91, 345 252,000 | A 160, 655

B E I 18, 084, 453 24,162,870 | A 6,078, 417

(2) BE1RHA e

H# E" # 16, 043, 6621 | [ 18,016, 871] [ [A 1,973, 209]
bid 2% % i biy 211, 866 583,487 | A 371, 621
i 18 i i ¥ 194, 164 204,041 | A 9,877

M E30 5h # 40 74,807 | A 74,767

N Rl iV A 7® 350, 026 606,622 | A 256, 596

4 At & 11, 800, 671 12,491,975 | A 691, 304
X #h £ i) 7 388, 529 162, 282 226, 247
ES Fi] #® 3,843 54,380 | A 50, 537

& %} % 25, 000 0 25, 000
%z s & g % 248, 000 270,648 | A 22, 648
M % 163, 824 1,318,029 | A 1, 154, 205
e #t F B 1, 056, 780 449, 000 607, 780
= % #® 635, 720 636,600 | A 880
3 = 7® 965, 199 1,165,000 | A 199, 801
H i1 % 4,692, 9071 | [ 3,661,548] | [ 1,031, 359]
% # By bl ® 12, 000 45,660 | A 33, 660
bt & E i 7 125,617 191,735 | A 66, 118
M £23 &h bid 60, 360 186,916 | A 126, 556
* # £ i #® 238, 437 665,975 | A 427,538
= e # 414, 394 233,579 180, 815
ME % 145, 251 264,195 | A 118, 944
6 #t E2 ] 1, 358, 000 746, 000 612, 000
& Wik @ -2 1, 000, 000 0 1, 000, 000
" & b2 600, 000 619,574 | A 19,574
Vi i b m % 0 57,082 | A 57, 082
Y = A 23 # 222, 648 151, 632 71,016
B 2] # 83, 000 40, 000 43, 000
n B2 ot £ B M OB 240, 000 200, 000 40, 000
17 B st * 2 fal £t 193, 200 259,200 | A 66, 000
BER A 20, 736, 569 21,678,419 | A 941, 850
A4 o 2 R T 4 AR 3 1 AT 2,652, 116 2,484,451 | A 5, 136, 567
SR A %5 0 0 0




B WAERE AT4EFE U
2 1A B HEA A 2,652,116 2,484,451 | A 5, 136, 567
2. BENEHEOLS
(1) #RE S
AR H S 2 3 0 0 0
(2) SHEABRA '
REAEMEH 0 0 0
L 3R 4 B AR 0 0 0
= 30— A IEBR R IE S B pa 2,652,116 2,484,451 | A 5, 136, 567
— AR EM B RS 22, 640, 732 20, 156, 281 2, 484, 451
—ARIEBRM PEEIR R 19, 988, 616 22,640,732 | A 2,652,116
I $EFE%MERNRON -
U HAHE TE TR B P R A 0 0 0
HEERMENYRE 0 0 0
15 1E TEVR R AR TR 0 0 0
M ERkRH R 19, 988, 616 22,640,732 | A 2,652, 116




